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PART -1II

sewflesl] gMledwed / COMPUTER SCIENCE

(sl wHmID WEidle eufl / Tamil & English Version)

&M 2jera] : 3.00 wewtl GBI | [ Qrss wHUCu@TSET : 70
Time Allowed : 3.00 Hours ] [Maximum Marks : 70
Dleyeorset : (1) Smarsg odamss@pbd sflurst uHeurd o drargm eraTLSMETE

Instructions :
GOy = ()

(i)
Note : (i)

(2)

silurTggs Oamearerab. FsLLSleler Gapuilmider, mns
sagrantLuTemflb o | anguings Cghelssea|b.

Flﬁa)Lb Sog sHUY @bullmear LLHGCDL ET(WsHUSHGWD,
S5CamghHeusH@n LweaTU(hss Coalar(Hib. LLBIGET alamFeusnd
QuenFled Liwem(hSSe,Lb.

Check the question paper for fairness of printing. If there is any lack of fairness,

inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

u@3) -1 /PART -1

SMEF NATESERSGD ellen_ieT&saL. 15x1=15

Qamrhsslul(Herer wrHm elensafler Wsa|b gHymLw alaLmws
Cambos(hdss GOULHLer eleLulemarnb Caidg er(pseyw.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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1. snareils Hlaeareusd erg ?

(1) RAM (<=},) ROM (&) EPROM (rfr) PROM
Name the Volatile memory.
(a) RAM () ROM (c) EPROM (d) PROM

2. 1010, -5 Hlapmen udlermm Blened wHlLIL

(1) C (=)B (@) E (/) A
For 1010, the Hexadecimal equivalent is :
(a) C (b) B (c) E d A

3. safluGurduler deanpssTsansans Qamanss 2 salb (ST FTSeD

(1) SCSI Port (<) USB Port
(@) VGA Connector (r) PS/2 Port
Display devices are connected to the computer through :
(a) SCSI Port (b) USB Port
(c) VGA Connector (d) PS/2 Port

4. Gasmiy Gueraren Blieudlliug) :

(=) Camiyempaer (<) ADLG| HDLOLIL|GET
(@) Carlyser (rF) Cpampdlu Senardgd
File Management manages :

(a) Folders (b) Directory systems

(c) Files (d) All of the above

5. @@ Carly soog Cariymperw Hlrbsrors Recycle bin - shismwe Bés
a%@é;a;ets’o‘rl_ g ellengsemer Cargg i(ps5s Couamm(Hd ?
(<) Shift wpmidb Delete (<=4) Alt ML Delete

(@) Tab womLd Delete (FF) Ctrl wpmbd Delete

Which of the following key combination is used to permanently delete a file or
folder without sending to Recycle bin ?

(a) Shift and delete (b) Alt and delete
(c) Tab and delete (d) Ctrl and delete

6. 2dmafl () uewry wHMD 2 drafh-Ceuallui(® QsmitenL e fasealer GHNLIGAHums
GleueuTm SMLPSHTD ?
(=) CApdlparp () Meurs@hliy (§) eamyuen (/) Sapmidae
Stating the input property and the input-output relation in a problem is known as :
(a) algorithm (b) specification (c) definition (d) statement
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endl &L eneT&@ LTHOTS LaTL(heugl 6T& ?

(=1) \O (=) \t (&) \n
This can be used as alternate to endl Command :
(a) \O (b) \t (c) \n
#include<iostream>

using namespace std;
int main()
{

int i, sum=5;

for(i=1; i<=5; i++)

{
sum=sum-+i;

}

cout<<sum,;

return O;
}
GCuwCe 2 ater Hlyalen Geuatlui® wimg ?
(=1) 20 (=) 10 (&) 25
#include<iostream>

using namespace std;
int main()
{

int 1, sum=5;

for(i=1; i<=5; i++)

{
sum=sum-+i;
}
cout<<sum,;
return O;
}
The output for the above snippet is :
(a) 20 (b) 10 (c) 25

(FF) \b
(d) \b
(rF) 15
(d) 15
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9. flygadlemr Qswerssd by QFwn sdledlmbg GsT_BiGLwD ?
(<) main() (<) isalpha() (@) islower() (rF) isdigit()
Which function begins the Program execution ?

(a) main() (b) isalpha() (c) 1islower() (d) isdigit()

10. sl (mssmer SiMleils@d Cung ereer ghuhHD ?
9l) g ANNEGL WwOHMID CFTL_BIEGLD

(
(<)) g THS HlvareussmsD REISSTE
(@) <ig <iMelds Wi Hid Qewiubd

(

) g Hloarassns @aIEE0
What will happen when the structure is declared ?
(a) It will be declared and initialized
(b) It will not allocate any memory
(c) It will be only declared

(d) It will allocate the memory

11. Yemeu(helameunmieT eTenel @ed: @ (&S EHLD MHMID ClLMHETS@EHD il LI UITSHS
Qarewr By eami@Gpanneanl elleuflsdimg ?
(=) ADT (<,) OOP (@) SoP () POP

The term used to describe a programming approach based on classes and objects
is :

(a) ADT (b) OOP (c) SOP (d) POP

12. Qars@welled euamrumGsLUGD QFunFHmmnEeT by CFunammemer Gume
Qunigdlermer ?
(=4) Outline QFwmHaamser (=) Inline GQFwHaamsHeT
(@) sre| QEubHsamseT (7)) Inline ©jerg CEwmHammiseT
The member function defined within the class behaves like :
(a) Outline functions (b) Inline functions

(c) Data functions (d) Non inline functions



13.

14.

15.

S
GemeumeuameupmieT Geuhamm U@L FTTHS THE Fmmm Filuwcey ?
(1) uewll V@ssLuLL Qewpambler wpeareflol erLmEser Lenlll@sslupib
Gurg smsHlev CamererliLi(heudlevane
(<)) uatlBl@ssliul’ L Qewupammger (pemelyaied Coumul (B @ més Couemr(hd
(@) <P dewunsmser LeafblGsEs (Ppguwng
() Qewpsgmm ueaflwbl@uGer Curg U9 eliyb grelarapbd &mHSSH e
Qamerer Geuemr(h b

Which of the following is not true with respect to function overloading ?

(a) The default arguments of overloaded functions are not considered for
overloading.

(b) The overloaded functions must differ in their Signature.
(c) Destructor function cannot be overloaded.

(d) The return type is also considered for overloading a function.

Yesreu(meuateummieT 6rgl wryflon Qupm euflenguller @uissiiLhSng ?

(1) & (<) 21 flod

(@) Cummer (FF) 2muiy Qewngam

Which among the following is executed in the order of Inheritance ?
(a) Constructor (b) Destructor

(c) Object (d) Member function

aueanils Hlresaer Gurg L eNGrrgwMs LweTU(HSS e

(=) @eeus Qe Limmerr (=) @eeus Gummer

(@) Qerlummer (rF)  Geurre

Commercial programs made available to the public illegally are known as :
(a) free software (b) freeware

(c) software (d) warez

U@ - 11 / PART - II

GO : eTemeuCuenid gm ammés@ErsE e wealldsea)b. Seunidler alerm erea

Note :

16.

. . . . 6x2=12
24 -5@ SL_Lmuwns e waflssab. ®

Answer any six questions. Question No. 24 is Compulsory.
SL(HUUm_Lssdler QFLOSHMET 6T(LpS)s.

Write the functions of Control unit.

[ Hmlys / Turn over
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17.

18.

19.

20.

21.

22.

23.

24.

@ mblaney eremr euigefled Fal (Hs.
15,9 + 204,

Perform Binary addition for the following :
155 + 204,

GUI erettmmed ereament ?
What is GUI ?

NESET GTaTmTE) 6Tenmenr ? C++ -6b 2 6Tem eNLENESENET FaMis.
What is meant by a token ? Name the token available in C++.

L &G LrHDldlenil eua LM LD.
Define a loop invariant.

LIEOI(THEUMGSHLD GTETMITE) GTET6T ?
What is Polymorphism ?

Lryflbb TEIMTE eTere ?
What is Inheritance ?

Syradlm upmdl Hmy GHILY euenys.

Write short note on cracking.

Gesreuqmd Hlredern Gouaflui(h wrg ?

#include<iostream>

using namespace std;

int main()

{
double var1=87.25255;
cout<<(float)varl<<end]l,
cout<<(int)varl<<endl;

}

Write the Output for the following :

#include<iostream>

using namespace std;

int main()

{
double var1=87.25255;
cout<<(float)varl<<endl;
cout<<(int)varl<<endl;
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L& - III / PART - III
GSOILL : gFmeugl | lamss@rsd@ ellawellésa|b. seundler elerm creim 33 -&@
SLLmuwng ele weilldsa|b. 6x3=18
Note : Answer any six questions. Question No. 33 is Compulsory.
25. genflLQurpluler serennseT wranel ?

What are the characteristics of a Computer ?

26. s Leners Cam@duller ojqlinenLuie mamaueiiuder cumssamer eT(Lpgis.

Write down the classifications of microprocessors based on the instruction set.

27. o Garlymrew 2 (haurs@h Qe alfl(penmEET 6T(LPGIS.

Write the two ways to create a new folder.

28. Cprb USTED QuIsEE L6 HemepDaET WHMILD ﬁ@mma;@'rr GTEOTET ?

What are the advantages and disadvantages of Time-sharing operating system ?

29. stremp() Gewmgmm undl 6T(PS)s.

Write about strcmp() function.

30. Ct++ -@é @Qend@Hp Aemidluc aiaqumlibger undl Sm @GHllL euamys.

Write short notes on Class access Specifiers of C++.

31. ENWMESD HMID LEONGHWTESD LD 6T(HSIS.
Write about encryption and decryption.

32. suUllp @eaus so6NS ssd unHM Sm GHILIL eT(PFIs.

Write a short note on Tamil Virtual Academy.

33. For wpmib Continue dmmeny LweTL(HSH 5 - 6T emm (PG 10 cuanTUITET
cTaTEHeneT AFF(HD C++ Blyed 6T(pg)s.

Write a C++ program to display numbers from 1 to 10. Except 5 using for’ and
‘Continue’ statement.

[ Hmlys / Turn over
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U@3l - IV / PART - IV
SN : Sjemensg laTssErs@h el wallésea,. 5x5=25
Note :  Answer all the questions.
34. (o) seniluQurdlulier LGeam samepanEmeT ellersEs.
S|6VEVG)
(=) @Qwss sanwiiber CQFwGoeararenn CbBMipenDEMeT 6Sl6TdHEHs.

(a) Discuss the various Generations of Computers.
OR

(b) Explain the process management algorithms in Operating System.

35. (=) (i) Wsiyd yerafl Liflemo erawrenent, @QmBlaney eTewTERTTS LOTHMIEISDHSTET
aulpannsamer edleul&se,Lb.

(i) (98.46),, -&@© Hlarmer Qmblenay eTewTERTIS DTHMIS.
S|6V6VG
(=) Quss Crridlen ol uld Hamearous srsamsamer o meufleaule
SDLOSSHALD.
(a) (i) Write the procedure to convert fractional decimal to binary.
(ii) Convert (98.46);, to Binary.
OR

(b) Arrange the memory devices in ascending order based on the access time.

36. (=) C++ - LweLOHSSILOD @ @mblane Qeun@dsamer LHO 6TLPSIS.
S|6VEVG)
() LY b Siepssed Wopeow 5EHS TOS8IE5T(HLer eilaiflssalb.
(a) Explain about Binary Operators used in C++.

OR

(b) Explain Call by value method with example.
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37. (=) @548 wpmibd P9 — Ceumur® Sms.
S|VEVG)
(<=4) Wereumd Hlyedlenr Qeuafuil el er(pgis.
#include<iostream>
using namespace std;
int main()
{
Char dev[5] [10] = {“Monitor”, “Speaker”, “Printer”, “Scanner”, “Keyboard”};
for(int i=0; i<5; i++)
cout<<dev[i]<<“\n”;
}
(a) Mention the difference between constructor and destructor
OR
(b) Write the output of the following program :
#include<iostream>
using namespace std;
int main()
{
Char dev[5] [10] = {“Monitor”, “Speaker”, “Printer”, “Scanner”, “Keyboard”};
for(int i=0; i<5; i++)

cout<<dev[i]<<“\n”;

[ Hmlys / Turn over
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38. (=) QeveTwser HTEHGS 6T uangsamer alleulsseib.
Explain the different types of Cyber attacks.
3|6vevgI/OR

(<=,) C++ Blyedleb o emar lanpsaner &(HEsIs.
Debug the following C++ program.
Output

Constructor of base class...
Constructor of derived...
Constructor of derivedl...
Destructor of derivedl...
Destructor of derived...
Destructor of base class...
Program :
$include<iostream>

using namespace std;

class base()

I
1

public
base()
{

cout<<“\n Constructor of base class...”;

}

'base()

{

cout<<“\n Destructor of base class...”;
5
}

Class derived : : public base

{
public

derived()

f
1

cout<<“\n Constructor of derived...”;

}
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!derived()
{

cout<<“\n Destructor of derived...”;
}

15

Class derivedl : : public derived

{

public :

derived1();

{

cout<<“\n Constructor of derivedl...”;

}
derived1();

{

cout <<“\n Destructor of derivedl...”;

h
h

int main():

{

derivedl x;

return O;

-00o0-
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